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Abstract. If P is the Hardy averaging operator—or some of its generalizations, then
weighted modular inequalities of the form

∫
uϕ(Pf) � C

∫
vϕ(f)

are established for a general class of functions ϕ. Modular inequalities for the two- and
higher dimensional Hardy averaging operator are also given.
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1. Introduction

Let P denote the Hardy averaging operator

(Pf)(x) =
1
x

∫ x

0
f, x > 0, f � 0,

then the classical Hardy inequality asserts that for 1 < p <∞, the inequality

(1.1)
∫ ∞

0
(Pf)(x)p dx �

( p

p− 1
)p

∫ ∞

0
f(x)p dx

holds.
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Here and in the sequel, functions are assumed to be measurable, weight functions,

denoted by u, v and w, are locally integrable, and the left sides of inequalities exist
if the right sides do. Also, constants are positive and denoted (sometimes with
subscripts) by C.

Extensive generalizations and applications of (1.1) exist and we refer to [9] and
the bibliography cited there.

The generalizations considered here are the modular forms of (1.1), obtained by
replacing the power function ϕ(x) = xp, p > 1 by a general function ϕ. To explain

some results in this direction, the notion of N -function is required.
A function ϕ : �+ → �+ is an N -function if it has the form

ϕ(x) =
∫ x

0
p(t) dt, x > 0,

where p is non-decreasing, right continuous on �+ with p(0+) = 0, p(∞) = ∞,
p(t) > 0 if t > 0, and

lim
x→0+

ϕ(x)
x
= lim

x→∞
x

ϕ(x)
= 0.

The complementary function ϕ̃ of ϕ is given by ϕ̃(y) = sup
x>0

{xy − ϕ(x)}.
Recall also that a function ϕ : �+ → �+ satisfies the ∆2 condition (ϕ ∈ ∆2), if

there is a constant C > 1, such that ϕ(2x) � Cϕ(x) for all x > 0.
Let v be a weight function, V (x) =

∫ x

0 v, such that V (∞) =∞, then (see [6]) for
any N -function ϕ

(1.2)
∫ ∞

0
ϕ

[
1

V (x)

∫ x

0
fv

]
v(x) dx �

∫ ∞

0
ϕ[Cf(x)]v(x) dx

holds, if and only if ϕ̃ ∈ ∆2. (For other weighted generalizations of this type see [7]).
If ϕ is not an N -function, then modular inequalities of the form (1.2) (with v ≡ 1)

still hold. For example, if ϕ : �+ → �+ and ϕ(0+) = 0 then (see [1])

(1.3)
∫ ∞

0
ϕ[(Pf)(x)] dx � C1

∫ ∞

0
ϕ(C2f(x)) dx

is satisfied, if and only if, for all t > 0

t

∫ t

0

ϕ(y)
y2
dy � 2C1ϕ(2C2t)

holds.

In this and the previous result the functions ϕ are increasing and satisfy ϕ(0+) = 0.
However, it is well known that (1.1) holds also for the negative index p. In fact, the
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function ϕ(x) = xα, α < 0 is neither an N -function, nor does it satisfy the condition

of the previous result, yet (1.3) holds for this function. This follows from a general
result of Levinson ([8]), who proved in 1964 that if ϕ : �+ → �+ satisfies

(1.4) ϕ(x)ϕ′′(x) �
(
1− 1

p

)
[ϕ′(x)]2, x > 0

for some p > 1, then modular inequalities of the form (1.3) with C1 = (p/(p− 1))p
and C2 = 1 hold.

The object of this paper is to extend Levinson’s results to modular inequalities
involving weights and to consider operators more general than the averaging operator.

Specifically we prove (1.2) where ϕ is not necessarily an N -function but satisfies a
condition similar, but more general than (1.4).

Recall that the limiting case p→ ∞ in (1.1) yields the inequality

(1.5)
∫ ∞

0
exp((Pg)(x)) dx � e

∫ ∞

0
exp(g(x)) dx

due to Knopp ([4, Thm. 2.50]) (actually the inequality is in the form exp g(x) = f(x)),

and various weighted generalizations of (1.5) are known (cf. [5], [10]). Here we shall
show via a simple adaptation of the method in [8] that the function ϕ(x) = expx in

the weighted analogue of (1.5) can be replaced by any convex function ϕ satisfying
(1.4) with p =∞.
If 0 < p � 1 then it is known that (1.1) fails unless the Lp-spaces on the right are

replaced by the Hardy spaces Hp. If however the range of integration is finite, then

such inequalities hold, where the constant depends on the length of the interval.
In the next section, we begin with a characterization of functions for which such

“finite” Hardy inequalities hold. This result is an adaptation of Kolmolgorov’s prin-
ciple ([2]) and seems to be new. Following this, weighted extension of Levinson’s

modular inequalities are given. The final section contains weighted modular inequal-
ities for the two-dimensional and n-dimensional case.

2. A modular characterization and weighted extensions of

Levinson’s modular inequality

The first result is a characterization for the averaging operator over finite intervals

(0, �) � > 0, via an adaptation of Kolmolgorov’s principle ([2]).

Theorem 2.1. Suppose ϕ : �+ → �+ is increasing, differentiable, and satisfies

ϕ(0+) = 0, lim
x→∞

ϕ(x)
x = 0. Then

(2.1)
∫ �

0
ϕ(Pf(x)) dx � C�ψ

(1
�

∫ �

0
f
)
, f � 0
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is satisfied for all � ∈ (0,∞), if and only if, for each t > 0

(2.2) t

∫ ∞

t

ϕ(y)
y2
dy � Cψ(t).

Here the constants in (2.1) and (2.2) are the same.

�����. If χ(0,�) denotes the characteristic function of the interval (0, �) then

the distribution function of χ(0,�)Pf is

λχ(0,�)Pf (y) =

∣∣∣∣
{
x ∈ (0,∞) : χ(0,�)(x)

x

∫ x

0
f > y

}∣∣∣∣ � min
(
�,
‖f‖1
y

)
,

where |E| denotes Lebesgue measure of E and ‖f‖1 =
∫ �

0 f . Applying Fubini’s
theorem, then for any s > 0

∫ �

0
ϕ((Pf)(x)) dx =

∫ ∞

0
ϕ′(y)λχ(0,�)Pf (y) dy

� �

∫ s

0
ϕ′(y) dy + ‖f‖1

∫ ∞

s

ϕ′(y)
y
dy.

But as a function of s, the minimum of the right side occurs at s = ‖f‖1/�, so that
∫ �

0
ϕ((Pf)(x)) dx � �ϕ

(‖f‖1
�

)
+ ‖f‖1

[
ϕ(y)
y

∣∣∣∞
‖f‖1/�

+
∫ ∞

‖f‖1/�

ϕ(y)
y2
dy

]

= �
‖f‖1
�

∫ ∞

‖f‖1/�

ϕ(y)
y2
dy � C�ψ

(‖f‖1
�

)
.

Here (2.2) was applied with t = ‖f‖1/�. Therefore (2.2) implies (2.1).
Conversely, let f(y) = �χ(0,t)(y), t > 0 fixed, in (2.1) then (Pf)(x) =

�
x min(x, t),

so that for t < � ∫ t

0
ϕ(�) dx+

∫ �

t

ϕ
( �t
x

)
dx � C�ψ(t)

or via the change of variable t�/x = y

tϕ(�) + �t
∫ �

t

ϕ(y)
y2
dy = t�

[
ϕ(�)
�
+

∫ �

t

ϕ(y)
y2
dy

]
� C�ψ(t).

But since (2.1) holds for all � > 0, then the condition ϕ(�)
� → 0 as � → ∞, shows

that this implies (2.2). �
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Note that ϕ(t) = tα, 0 < α < 1, satisfies the conditions of the theorem with

ψ(t) = tα and C = 1/(1− α), so that (2.1) holds in this case.

Another example is obtained by taking ϕ(t) = log(1 + t), t > 0, then (2.1) holds
with C = 1 and ψ(t) = log(1 + t) + t log

(
1+t

t

)
.

To give the weighted extensions of Levinson’s modular inequality we require the

following:

Definition 2.1. A function ϕ : (a, b) → �+ , 0 � a < b � ∞, belongs to the
class Φp, p > 1, if

ϕ(x)ϕ′′(x) � (1 − 1/p)[ϕ′(x)]2

holds for all x > 0. If p =∞ we write Φ∞ = Φ.

Clearly Φ ⊂ Φp, and since ϕ(x) = xq, q � p is in Φp but not in Φ, the inclusion is

strict.

Note that ϕ(t) = t−a, a > 0, ϕ(t) = e−ta

, 0 < a � 1, ϕ(t) = etb

, b � 1 are in the
class Φ and hence in Φp for any p > 1. However, if in the last two examples a > 1,

respectively, 0 < b < 1 then neither of these functions is in Φp for any p > 1.

Lemma 2.1.

(i) If ϕ ∈ Φp, p > 1, then ψ = ϕ1/p is convex.

(ii) If ϕ ∈ Φ, then ψ = logϕ is convex.

�����. We only need to show that ψ′′ � 0. Since for (i) p(p− 1)ψ2p−2(ψ′)2 +
pψ2p−1ψ′′ = ϕϕ′′ � (1 − 1/p)p2ψ2p−2(ψ′)2 and for (ii), ψ′′ = ϕϕ′′−(ϕ′)2

(ϕ)2 if ϕ ∈ Φ, it
follows in each case that ψ′′ � 0. �

In what follows, we shall always assume that domain of ϕ is so chosen that it

contains the range of f � 0.
The weighted extension of Levinson’s result [8] is the following:

Theorem 2.2.

(i) If ϕ ∈ Φp, p > 1, and sup
r>0

(∫ ∞
r

u(t)
tp dt

)1/p (∫ r

0 v(t)
1−p′
dt

)1/p′

<∞, then

(2.3)
∫ ∞

0
uϕ(Pf) � C

∫ ∞

0
vϕ(f).

(ii) If ϕ ∈ Φ, and v(x) = xα
∫ ∞

x
u(t)
tα+1 dt, α > 0 then (2.3) holds with C = eα.
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�����. (i) By Lemma 2.1 (i), ψ = ϕ1/p is convex, hence by Jensen’s inequality

and the well known weight conditions of Muckenhoupt (cf. [9]) we obtain

∫ ∞

0
u(x)ϕ

( 1
x

∫ x

0
f
)
dx �

∫ ∞

0
u(x)

[ 1
x

∫ x

0
ψ(f(t)) dy

]p

dx

� C

∫ ∞

0
v(x)ψ(f(x))p dx

= C
∫ ∞

0
v(x)ϕ(f(x)) dx,

which proves the first part.

For the second part we apply Lemma 2.1 (ii), Jensen’s inequality and the fact that

−α =
∫ 1

0
log yα dy, α > 0.

Interchanging the order of integration twice (Fubini) and making obvious changes of
variables yields

∫ ∞

0
uϕ(Pf) =

∫ ∞

0
u(x) exp

[
ψ

(1
x

∫ x

0
f
)]
dx

�
∫ ∞

0
u(x) exp

[ 1
x

∫ x

0
ψ(f(t)) dt

]
dx

=
∫ ∞

0
u(x) exp

[ 1
x

∫ x

0
logϕ(f(t)) dt

]
dx

=
∫ ∞

0
u(x) exp

[ ∫ 1

0
logϕ(f(xy)) dy

]
dx

= eα
∫ ∞

0
exp

[ ∫ 1

0
log[yαϕ(f(xy))] dy

]
dx

� eα
∫ ∞

0
u(x)

∫ 1

0
yαϕ(f(xy)) dy dx

= eα
∫ 1

0
yα

∫ ∞

0
u(x)ϕ(f(xy)) dxdy

= eα
∫ 1

0
yα−1

∫ ∞

0
u
( t
y

)
ϕ(f(t)) dt dy

= eα
∫ ∞

0
ϕ(f(t))

∫ 1

0
yα−1u

( t
y

)
dy dt

= eα
∫ ∞

0
ϕ(f(t))

[
tα

∫ ∞

t

u(x)
xα+1

dx
]
dt

from which the result follows. �
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If u = v = 1 in the first part of the theorem, then the constant in (2.1) is [p/(p−1)]p
and we obtain the result in [8]. If u(x) = 1 then v(x) = 1

α , and since minα
−1eα = e,

then with ϕ(x) = ex we obtain from the second part of the theorem a result of Knopp
[4, Thm. 2.50].

Note that if ϕ is monotone, so that ϕ−1 exists, then we obtained∫ ∞

0
u(x)ϕ

( 1
x

∫ x

0
ϕ−1(f)

)
dx � eα

∫ ∞

0
v(x)f(x) dx.

Such inequalities when ϕ(x) = ex were studied in [5] and [10] where weight charac-

terizations were also given.
It is clear that the argument of Theorem 2.2 carries over to more general positive

integral operators of the form

(Kf)(x) =
∫ ∞

0
k(x, y)f(y) dy f � 0

where the kernel satisfies certain natural conditions.

Corollary 2.1. Suppose ϕ ∈ Φp, p > 1 and the kernel k is homogeneous of
degree −1. If∫ ∞

0
k(x, y) dy = 1 and

∫ ∞

0
k(1, t)t−1/p dt = C <∞,

then ∫ ∞

0
ϕ[(Kf)(x)] dx � Cp

∫ ∞

0
ϕ(f(x)) dx.

�����. Since ψ = ϕ1/p is convex by Lemma 2.1, then Jensen’s inequality yields

ψ[(Kf)(x)] �
∫ ∞

0
k(x, y)ψ(f(y)) dy =

∫ ∞

0
k(1, t)ψ(f(xt)) dt.

Integrating and applying Minkowski’s inequality shows that∫ ∞

0
ψ[(Kf)(x)] dx =

∫ ∞

0
[ψ((Kf)(x))]p dx �

∫ ∞

0

[ ∫ ∞

0
k(1, t)ψ(f(xt)) dt

]p

dx

�
{∫ ∞

0
k(1, t)

(∫ ∞

0
ψ(f(xt))p dx

)1/p

dt
}p

=
{∫ ∞

0
t−1/pk(1, t)

(∫ ∞

0
ψ(f(y))p dy

)1/p

dt
}p

= Cp

∫ ∞

0
ϕ(f(y)) dy.

If α > 0, then the kernel k(x, y) = αx−α(x−y)α−1χ(0,x)(y) satisfies the conditions
of the Corollary, and hence the result holds in this case.
A modification of the conditions on the kernel provides also results for ϕ ∈ Φ. �
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It is reasonable to assume that Levinson’s method carries over to other than Lp-

mappings of operators. This is indeed possible if one generalizes the Φp classes of
Definition 2.1. To do this, note that if P is anN -function, then P is convex and hence
P ′′ � 0 exists a.e. We require however that for an N -function P ′′ exists everywhere.

Definition 2.2. Let P be an N -function, such that P ′′(x) � 0, x ∈ �+ , and

that P̃ ∈ ∆2. We say that the function

ϕ : (a, b)→ �+ 0 � a < b � ∞,

belongs to ΦN
γ if

(2.4) ϕ(x)ϕ′′ � γ[ϕ′(x)]2

is satisfied, where γ = sup
0<x

P ′′(x)P (x)
[P ′(x)]2 .

If γ = 1 we write ϕ ∈ ΦN .

Note that if P (x) = xp/p, p > 1, then P̃ (x) = xp′
/p′ ∈ ∆2 and

P ′′(x)P (x)/[P ′(x)]2 = 1− 1
p ,

so this generalized class contains the class of Definition 2.1. Also the N -function

given by

P (x) =
∫ x

0
(et − 1) dt

satisfies Definition 2.2. In fact a straightforward calculation shows that the comple-

mentary function P̃ of P is

P̃ (x) =
∫ x

0
ln(y + 1) dy = (x+ 1) ln(x+ 1)− x,

which is clearly in ∆2. Moreover, since sup
x>0

P ′′(x)P (x)
[P ′(x)]2 = 1 it follows that P ∈ ΦN .

A generalization of Theorem 2.2 (i) is the following:

Theorem 2.3. Suppose ϕ ∈ ΦN
γ and v a weight function and V (x) =

∫ x

0 v where

V (∞) =∞. Then
∫ ∞

0
ϕ

[
1

V (x)

∫ x

0
fv

]
v(x) dx �

∫ ∞

0
ϕ(Cf(x))v(x) dx.
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�����. First we show that ψ = P−1(ϕ) is convex. Since ϕ = P (ψ), ϕ′ =
P ′(ψ)ψ′; ϕ′′ = P ′′(ψ)(ψ′)2 + P ′(ψ)(ψ′′), so (2.4) is satisfied if and only if

P (ψ)
[
(ψ′)2P ′′(ψ) + P ′(ψ)ψ′′] � γ [P ′(ψ)ψ′]2

is satisfied. But this is equivalent to

P ′(ψ)ψ′′ � P ′(ψ)2(ψ′)2

P (ψ)

[
γ − P ′′(ψ)P (ψ)

[P ′(ψ)]2
]
.

But since the right side is non-negative it follows that ψ′′ � 0.
Now since ψ is convex, Jensen’s inequality yields

∫ ∞

0
ϕ

[
1

V (x)

∫ x

0
fv

]
v(x) dx =

∫ ∞

0
P

[
ψ

( 1
V (x)

∫ x

0
fv

)]
v(x) dx

�
∫ ∞

0
P

[
1

V (x)

∫ x

0
ψ(f(t))v(t) dt

]
dx �

∫ ∞

0
P [Cψ(x)]v(x) dx

�
∫ ∞

0
Pψ(Cf(x))v(x) dx =

∫ ∞

0
ϕ(Cf(x))v(x) dx.

Since C > 1 (w.l.g.) the last inequality follows from the convexity of ψ and the

second to last inequality is (1.2) of [6]. (Note that the characterization of (1.2)
requires V (∞) =∞ only in the necessity part.) �

3. Higher dimensional cases

Higher dimensional analogues of the previous results can be given. Here we con-
sider first the two dimensional case, where the two dimensional averaging operator

is defined by

(P2f)(x, y) =
1
xy

∫ x

0

∫ y

0
f(s, t) dt ds x, y > 0, f � 0.

Before proving the analogue of Theorem 2.2, the following special case of a theorem
of Sawyer [11] is required.

Theorem 3.1. Let u and v be weight functions on �2+ = (0,∞) × (0,∞). Let
1 < p <∞, then

(3.1)
∫
�2+

u[(P2f)]
p � C

∫
�2+

vfp
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is satisfied, if and only if, for all a > 0, b > 0

(3.2)

(∫ ∞

a

∫ ∞

b

u(x, y)
(xy)p

dy dx

)1/p(∫ a

0

∫ b

0
v(x, y)1−p′

dy dx

)1/p′

� A <∞

(3.3)
∫ a

0

∫ b

0

(∫ x

0

∫ y

0
v1−p′

)p
u(x, y)
(xy)p

dy dx � A

∫ a

0

∫ b

0
v1−p′

and

(3.4)∫ ∞

a

∫ ∞

b

(∫ ∞

x

∫ ∞

y

u(s, t)
(st)p

dt ds

)p′

v(x, y)1−p′
dy dx � A

∫ ∞

a

∫ ∞

b

u(x, y)
(xy)p

dy dx

are satisfied.

The corresponding modular inequality is now the following:

Theorem 3.2.
(i) If ϕ ∈ Φp, p > 1, and (3.2), (3.3), (3.4) hold, then

(3.5)
∫
�2+

uϕ(P2f) � C

∫
�2+

vϕ(f)

is satisfied.

(ii) If ϕ ∈ Φ, then (3.5) holds with C = eα+β , α > 0, β > 0 and

v(x, y) = xαyβ

∫ ∞

x

∫ ∞

y

u(s, t) dt ds
sα+1tβ+1

.

�����. The proof of (i) follows as in Theorem 2.2 (i) only now Theorem 3.1 is

applied. We omit the details.
The proof of (ii) is also as in the proof of Theorem 2.2 (ii) and is given here for

completeness.
By Lemma 2.1, ψ = logϕ is convex. Hence by Jensen’s inequality and changes of

variables∫
�2+

uϕ(P2f) =
∫ ∞

0

∫ ∞

0
u(x, y) exp[ψ(P2f)(x, y)] dy dx

�
∫ ∞

0

∫ ∞

0
u(x, y) exp

[
1
xy

∫ x

0

∫ y

0
(ψf)(s, t) dt ds

]
dy dx

=
∫ ∞

0

∫ ∞

0
u(x, y) exp

[∫ 1

0

∫ 1

0
(ψf)(xσ, yτ) dτ dσ

]
dy dx.
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But since −δ = ∫ 1
0 log t

δ dy, δ > 0, then with δ = α and δ = β the last integral is
equal to

eα+β

∫ ∞

0

∫ ∞

0
u(x, y) exp

[∫ 1

0

∫ 1

0
log[σατβ(ϕf)(xσ, yτ)] dτ dσ

]
dy dx

� eα+β

∫ ∞

0

∫ ∞

0
u(x, y)

[∫ 1

0

∫ 1

0
σαtβ(ϕf)(xσ, yτ) dτ dσ

]
dy dx

= eα+β

∫ 1

0

∫ 1

0
σατβ

[∫ ∞

0

∫ ∞

0
u(x, y)(ϕf)(xσ, yτ) dy dx

]
dτ dσ

= eα+β

∫ 1

0

∫ 1

0
σα−1τβ−1

[∫ ∞

0

∫ ∞

0
u
( s
σ
,
t

τ

)
(ϕf)(s, t) dt ds

]
dτ dσ

= eα+β

∫ ∞

0

∫ ∞

0
(ϕf)(s, t)

[∫ 1

0

∫ 1

0
σα−1tβ−1u

( s
σ
,
t

τ

)
dτ dσ

]
dt ds

= eα+β

∫ ∞

0

∫ ∞

0
(ϕf)(s, t)

[
sαtβ

∫ ∞

s

∫ ∞

t

u(x, y)
xα+1yβ+1

dy dx

]
dt ds,

and the result follows. �

Observe that if ϕ is monotone then ϕ−1 exists and writing ϕ(f) = g the inequality
may be written as

∫ ∞

0

∫ ∞

0
u(x, y)ϕ

[
1
xy

∫ x

0

∫ y

0
(ϕ−1g)(st) dt ds

]
� eα+β

∫ ∞

0

∫ ∞

0
v(x, y)g(x, y) dy dx.

Specifically, if ϕ(t) = et, this generalizes a result of [5] and if u = v = 1 one obtains
the two dimensional analogue of [4, Thm. 250].

If n > 2, a corresponding weighted inequality as in Theorem 3.1 is not available.
However, if one defines in the n-dimensional setting the averaging operator P by

(Pf)(x) =
1

|B(|x|)|
∫

B(|x|)
f(y) dy, x ∈ �

n , f � 0,

where B(|x|) is the n-ball in �n , centred at zero with radius |x| and |B(|x|)| its
volume, then modular inequalities are possible. Note that

|B(|x|)| =
∫
|y|�|x|

dy =
|x|n|Σn−1|

n

where Σn−1 is the surface of the unit ball in �n and |Σn−1| its area.
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Theorem 3.3.

(i) If ϕ ∈ Φp, p > 1 and the weight functions U , V in �n satisfy

sup
a>0

{∫
|x|�a

U(x) dx
|B(|x|)|p

}1/p{∫
|x|�a

V (x)1−p′
dx

}1/p′

<∞

then

(3.6)
∫
�n

Uϕ(Pf) � C

∫
�n

V ϕ(f)

holds.

(ii) If ϕ ∈ Φ and V (x) = |x|α ∫
|y|�|x|

U(y) dy
yn+α , α > 0, then (3.6) holds with C =

eα/nn
|Σn−1| .

�����. Since part (i) follows as in the proof of Theorem 2.2(i), (but now
applying [3, Theorem 2.1]) we only prove part (ii).

By Lemma 2.1 ψ = logϕ is convex, so by Jensen’s inequality

∫
�n

Uϕ(Pf) =
∫
�n

U(x) exp[ψP (f)(x)] dx

�
∫
�n

U(x) exp

[
1

|B(|x|)|
∫

B(|x|)
(ψf)(y) dy

]
dx.

Let U(t) =
∫
Σn−1

U(tτ)dτ , then, since ψ = logϕ a change to polar coordinates shows

that the last integral is

∫ ∞

0
U(t)tn−1 exp

[
n

tn|Σn−1|
∫ t

0
sn−1

∫
Σn−1

log(ϕf)(sσ) dσ ds

]
dt

=
∫ ∞

0
U(t)tn−1 exp

[
n

|Σn−1|
∫ 1

0
vn−1

∫
Σn−1

log(ϕf)(tvσ) dσ dv

]
dt (s = tv).

But if α > 0, then

e−α/n = exp

[
n

|Σn−1|
∫ 1

0
vn−1

∫
Σn−1

log vα dσ dv

]
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so that the previous integral is equal to

eα/n

∫ ∞

0
U(t)tn−1 exp

[
n

|Σn−1|
∫ 1

0
vn−1

∫
Σn−1

log[vα(ϕf)(tvσ) dσ dv

]
dt

� eα/nn

|Σn−1|
∫ ∞

0
U(t)tn−1

∫ 1

0
vn−1

∫
Σn−1

vα(ϕf)(tvσ) dσ dv dt

=
eα/nn

|Σn−1|
∫ 1

0
vn+α−1

∫ ∞

0
tn−1U(t)

∫
Σn−1

(ϕf)(tvσ) dσ dt dv

=
eα/nn

|Σn−1|
∫ 1

0
vα−1

∫ ∞

0
sn−1U

( s
v

)∫
Σn−1

(ϕf)(sσ) dσ ds dv (tv = s)

=
eα/nn

|Σn−1|
∫ ∞

0
sn−1

(∫
Σn−1
(ϕf)(sσ) dσ

)(∫ 1

0
vα−1U

(s
v

)
dv

)
ds

=
eα/nn

|Σn−1|
∫ ∞

0
sn−1

(∫
Σn−1
(ϕf)(sσ) dσ

) ∫ ∞

s

sα

tα+1

(∫
Σn−1

U(tτ) dτ

)
dt ds

=
eα/nn

|Σn−1|
∫
�n

ϕ(f(x))V (x) dx.

Here we applied Jensen’s inequality again and interchanged the order of integration
twice, with obvious changes of variables. �

Again, if ϕ is monotone, so that ϕ−1 exist, then with ϕ(f) = g the inequality

takes the form

∫
�n

U(x)ϕ(P (ϕ−1g)(x)) dx � eα/nn

|Σn−1|
∫
�n

V (x)g(x) dx

which was obtained in [3, Thm. 4.1] in the case ϕ(x) = ex.
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